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MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

Determine whether the given quadratic function has a minimum value or maximum value. Then find the coordinates o}

the minimum or maximum point

1) £(x) = 5x2 - 10x K==k (1O 1) l D)

A) maximum; (1, - 5) 26\ ’?_‘(S) B) max1mum, (-1,-5)
C) minimum; 1 - 5) 1mum (1 - 5)
Find the coordinates of the vertex for the parabola defined by the given quadratlc function. A
-—é—(l 2) ‘

2) f(x) = -x2 + 10x = 2 X=— _th.,
@5, 23) B) (-5, -27) 24 97 D) (10, -2)
A A

4

Find the range of the quadratic function.

3) f(x ) (x + 9)2 2
) [9, = B) (-, -2 i Q) (-, -9] (D)2 =)
A V() — (’ ) A
4) f(xé‘ll(x 3)2+5 4)
/ B) [-5, ' Q) (-=,5 D) [3,
\,(L )‘ ) ) [-5, ) L O6=9] ) B, =)
212,
Find the x-intercepts (if any) for the graph of the quadratic function.
5) f(x) = =2x2 + 10x - 48 2()( +5 ){—-Lﬂ) 5) IA\
A))(3, 0) and (-8, 0) _ N B) (-3, 0) and (8, 0)
C) (-3, 0) an d(SO)Z(KJ”??(*“ 2) D) (3, 0) and (8, 0)
X=-3.% R
6) £(x) =x2 + 14x + 35 Give your answers in exact form. X=—14%y 'Ll) \BOX - !’) 6) A
A) (-7 £~[14, 0) B) (7 +/14, 0) C) (7 £ /35, 0) (14+\/_5 0) _
'-'\L{tij{q(')--{‘(u: fcﬁgb vt‘(i Lyl = TEAY
Find the y-intercept for the graph of the quadratic function. 2- —z >
7) f(x) = x2 + 5x {6/) = 7) C
4)(0,6) B) (0.5) (Sylo.-6 D) 0,3)
8) f(x) = -x2 + 2x {3/ - b
Ne-3 7 BEO ) 0, -1) (2)w,3)
Find the domain and range of the quadratic function whose graph is described. D
9) The vertex is (1,0) and the graph opens down.
A) Domain: (-, «) B) Domain: (-, 1]
Range: [0, =) ,\T\Bange: (-, 0]
C) Domain: (-, =) @omain: fros )

Range: (-=, 1] Range: (-«, 0]




R 'C) f(-1) =-2 and £(0) = -4; no

=\

Use the Leadin ff1c1eut Test to determine the end behavior of the polynomial function.

2x4 3x3 + 3x2 + 5x - 2 fv
% alls to the left and falls to the right B) falls to the left and rises to the right
C) ises to the left and rises to the right D) rises to the left and falls to the right

f(x) + Zx2 4x -2
A fises to the left and falls to the right ; B) rises to the left and rises to the right
fplls to the left and rises to the right D) falls to the left and falls to the right

Find the zeros of the polynomial function.
12 (%) =x3 + X2 - 6x X(X X (0>
==3,x=2 )OB)X 0,x=1,x=2
&k 0% —8, x =3 X()(*Jr%)(\(;’/ D)x=1,x=2
X=0O /27 2

13)f( =x3 - 5x2 - 4x + 20 _ .
)@_5 :_-2 x=2 l(X"))""{(¥"5>B)x=-2,x=2

=5, x=-2,x = 26( q)(gﬁ) D)x=5,x=4
= Ly Z S

10)

11)

12)

13)

o

|1>- '(‘

Find the zeros for the polynomial function and glve the multiplicity for each zero. State whether the graph crosses the

x-axis or touches the x-axis and turns around, at each zero.
14) f(x)=5(x + 1)(x + 4)3 X==\=Y
A) 41, multiplicity 1, crosses x-axis; -4, multiplicity 3, crosses x-axis
B) -1, multiplicity 1, crosses x-axis; -4, multiplicity 3, touches x~axis and turns around
1, multiplicity 1, touches x-axis; 4, multiplicity 3, touches x-axis and turns around
)1, multiplicity 1, crosses x-axis; 4, multiplicity 3, crosses x-axis

15) ) =362+ N(x-2)2  X= 2L

A) 2, multiplicity 2, crosses the x-axis

1, multiplicity 1, crosses the x-axis; 2, multiplicity 2, touches the x-axis and turns around.

é? multiplicity 2, touches the x-axis and turns around
D) -1, multiplicity 1, crosses the x-axis; 2, multiplicity 2, crosses the x-axis

14)

15)

Ie

Use the Intermediate Value Theorem to determine whether the polynomjal functign has a real zero between the given

integers. +(_\ . .._L((-\) 7’(..\) Y= Y-z ‘1»(—“)

\ 16) f(x) = -4x% - 2x2 + 4; between -1 and 0
f(-1) =2 and f(0) = -4; yes =2 and f(0) =5; no

=-2 and {(0) = 4; yes

Determine the maximum possible number of turning points for the graph of the function.
17) f(x) = 9x8 - 4x7 - 5x - 18 H-4urns- || -

A)9 B) 8 At Qo @7

Solve the problem. \}:’—j £

18) Solve the equation 3x3 - 32x2 + 73x + 28 = 0 given that 4 is a zero of f(x) = 3x3 - 32x2 + 73x + 28.

A) {4 1,- 7} B; 4, 7,—%} Q) {4,-7, %} D) {4, -1,-2-}

12 22 7% 22
2 g0 22
' —20 7 ‘

2x /'Z/OY ~1= {
%

(2x X”( - '7):& L

16)

D

LY

) B



SHORT ANSWER. Write the word or phrase that best completes each statement or answers the question.

Complete the following:

(@) Use the Leading Coefficient Test to determine the graph's end behavior.
(b) Find the x-intercepts. State whether the graph crosses the x-axis or touches the x-axis and turns around at each

intercept.
(c) Find the y-intercept.
(d) Graph the function.

19) f(x) = x2(x + 3)

&L

(l} .('71 ! ;:S;E)MT

(=2®) Crosses

X7+ 2

ety H{(x43) =0

><'t': o {-?7

»—\NV\CT

)

MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

e e Y= 4 XA
ivide using long division.
AT X a2t X2 2 o A5 ¥4
20)x+x+x+x+ L )L{ 2 20)
x2 +2x+3 ( XA+ 29‘ oL Y
- 4 &5,
@(2+x+1+——6—— }Q>§<2+4>%{17 X
x2 +2x +3 (= B4y A X
C)x2+x+1 R e s 174X 248
2 X2+ 2x + 3
Yol > \( *Ly‘-*ﬂ
o) 8m4 + 12m3 - 2m 2im "M)meﬁ'llma’ﬂt'ﬂ’"z’“( T o D
) 2mZ +m k’%vv\ HV"‘ B
>
- 2m m>om” 2m
2 — 2 -
){Lhn +8m+4+2m2+m (~’§W\“’3r - ‘K)éhn +6m o ? e
TN-1
i, e ﬁ““,_ v§4m2+4m 2
2m2 + m (_—) L\W\ -
& 0
Divide using synthetic division. (8 -0

-4x3 - 16x2 + 18x - 10

22
) X+5

A) 4x2 - 5x -2

m\(J
—S, B 20 __(®
= L{ _2 L© .

B)-4x2 + 4x - 2




Use synthetic division and the Remainder Theorem tosfind the indicated function value.
M - «

23) f(x) = 3x3 - 5x2 - 4x + 2; f(-2) -2 | < zz,f.;,b - 23) b
A) =50 B) -14 7 AL 1B _O4 D) }34

Find an nth degree polynomial function with real coefficients satisfying the given conditions.

24) n = 3; -2 and -3 + 2i are zeros; leading coefficient is 1 ()(’{alxxz'ﬂp)( -H 3 )c X}-i” 6)(“::*"( ’))(‘ ) 24) .D
A) f(x) =x3 - 4x2 + 25x + 26

f(x) = x3 + 5x2 + 25x 2 )P 2
C) f(X)zx3 +8X2 & 15596

D) B(x) = x3 + 8x2 + 25x + 26 B
e p R B . ) 2 ] L s =~ ,, 1},,1('"’ /[~
| (XJ‘ XX+ 221 ‘)b{-i— % -tZL) = ()(-%21)()( t3x AL EIX 461221 ;él«.—J{Z‘T)
Use Descartés's Rule of Signs to determine the possible number of positive and negative real zeros for'the given function,
25) f(x) =x7 +x6 + x2 + x + 2 e O 25)
o . - Zac\ . .
A) 0 positive zeros, 0 negative zeros B) 0 positive zeros, 1 negative zero
C) 0 positive zeros, 3 or 1 negative zeros D) 0 positive zeros, 2 or 0 negative zeros
N 2,
X7 4Y° -y
Use the graph of the rational function shown to complete the statement.
26)

26) B

-10-8 -6 -4 > 2 4 6 8 10 X

/

As x->-1-, f(R)= 7

A) + B) - o)1

Find the vertical asymptotes, if any, of the graph of the rational function.
X ( 5
27) g(x) =——— . V ‘ . 27)
d x2 -25 =0 O(~51 Xks )70
A)x=5 - =5,x=—5
C)yx=5,x=-5x=0 D) no vertical asymptote

Find the horizontal asymptote, if any, of the graph of the rational function.
[4X2 -2x -8
28) g(x) =

[ 642 -7x+5 (iff-‘é:
Ay

9

28) C/

e M

B)y=0

Il

wln

D) no horizontal asymptote



Find the slant asymptote, if any, of the graph of the rational function.

2.4 9x - X iy
X<+ 9x - 3
29) f(x) = —— X T o -
x-5 x-S \ )("’..L QG —3
\) y=x y“' et 4
CQy=x+14 R a—
[dx —3
Graph the function.
24 7x
X¢+7x=7
0 =—
30) £(x) _3
::y. T,X? S=0O
e ‘ S
- S
- X
4
S~ L L] T L) ':l:.; L] 1 L] ) ;(
T
T |
I
A)
501
407
30

'
] 1 1 1 1 AN

< T T T

1 55
-25-20 -15 -10 5

=)
-3

-40 |

-5

104

g L] L} ) L}
V5 10 15 20 25 X
o |

07 |

ot |

B)y=x+9
D) no slant asymptote

0 =§ 6

10 15 20 25 X




Answer Key D, r
Testname: CH 2 TEST v

1) D
2) A
3)D
4) A
5) A
6) A
7) C
8) D
9) D
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19) (a) falls to the left and rises to the right
b) x-intercepts: (0, 0), touches x-axis and turns; (-3, 0), crosses x-axis

¢) y-intercept: (0, 0)
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